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8 | 1 | KR B fREE| 2| 8.450 8 M4 | EoE BB 2| 17.150
9 |AEIk 9 |BRIEHSE AR AH| 2| 8100 9 |#mhug 1 [HEE S AR BE k= 1| 6.850
10 |#i 8 |iAAS PR R 2| 7.950 10 |#i 8 [fAAS PR 2| 6.800
11 B 9| b S A Yol 74| 1] 17.900 10 B 7 |Em e SR 2| 6.800
11 |#em 1 |[fAAs ZWH #RKA| 2| 7.900 12 | 1 | KRR B BEE| 2| 6.450
11 B 7 |2 H HE ORK| 2| 7.900 13 B 9 |FHHE = gaAk A 2] 6.200
11 |#me 1|3FE A 2 7.900 14 |#EE2 0 |FAAS VN | 6. 000
15 K1 o |[FAA ZHIfE B 2 | 7.800 15 [mm1 2| S48 My B4 2| 5.900
16 |#um1 2| & X Ay N B 2| 7.750 16 |#ig15|d S L8 e k| 2| 5,100
16 |k 3| FkIE (L fEFR| 2 | 7.750 17 |#m1a|ms wmm e—es| 2 | 5,000
18 |1 5| & X Ay FEEE K| 2| 7.650 18 |mm1 7|d X 2B B oA 2 | 4.700
19 |#ig1 7|d S B = 2| 7.550 18 |mime2 2| W FE sESR 1| 4. 700
19 w2 3|52 W K¥E| 1| 7.550 18 |[mim1s|Em A AR 1| 4,700
21 |[mam1 4| HA mmE fE—Es| 2 | 7.500 21 |mem 1 3| Rk WE e | 2 | 4. 400
21 |#um2 2 [EH AR RESR | 1| 7.500 22 |mim1 90| & 8% Bali 74| 1| 4.200
21 |#rm2 olfa A A @ 1| 7.500 23 |#rm1 6 [fAA e | 2| 3.500
24 |1 6 [fAA BEH | 2| 7.450 24 |mog21|RR % W 2 | 3.000
25 |Wge 1 [ RA FEH O OPREL| 1| 7.350 25 [ 1 |k B OWE | 1| 2.750
26 |#m1 8 [ Nl | 7.100 26 |mme 3|IEE WoE | 1 2. 000

Print Time:2015/12/10 16:26




[235] w2 RST B o ¥ — (KB [iE# 5 FNod-2]
(1] J?)ﬂz27$11ﬂ 230 (H)
ER2TEE F3E MmR/BERERFTAKREGRERE BEFEBIGER
Bk 5B % =

B4z | X % 24 BFL |35 BA B | X % 24 EFL |3%5| B4
1 |#E 3| k| Hh o BEEE| 2| 9.350 1| 1 | RR RO 2 | 8.900
2 |BRE5 SRR R #E 2 [ 9,150 2 |BE2|Hohs R fEem| 2| 8.400
3 [ 1 [IRIR RORE 2 | 8.700 3 |[Mima| EowE BOEA 2| 8.150
4 |RA1Re FH O OHE | 1| 8.650 4 |BiEs|bEm o BEEE | 2| 7.800
4 [wum1 3 |FKEE (Ll fEYR| 2 | 8.650 5 | M7 [EH HE R 2| 7.450
6 |#imi4a|@mE e fE—RR| 2 8. 600 6 |mimi4|ELE HHE  fE—esl 2 7. 400
7 |mum o A ZH HRKA| 2| 8.500 7 |#EEe | EoE o R 1| 7.150
7 |BuE 1 e A PEH | 2| 8.500 8 | 11 [KIR B BEE| 2| 7.000
9 |1 7|dH X LHF Wi A 2 | 8.450 9 |Mum1 3|fkIE (L fAE7R | 2 | 6.850
9 | 1 | KIR By R 2 | 8.450 10 w1 | B A AR BE k= 1| 6.800
11 [#iE 2 |H s R #E2| 2 | 8.400 10 B 5 |52 RS | 2 | 6.800
11 |#w 2| SH 8 I B 2| 8.400 12 |# 8 (i R e 2| 6.500
11 |[wme | R %% W 2 | 8.400 13 [msm 1 1[4 ZM FAT| 2| 6.350
14 | o | SRV R AR e Kiz| 1| 8.350 14 g1 2|d S0 IR BB 2| 6.250
14 |#m1 o |kaAs JEE B 2| 8.350 15 [Bm 1 o [faA ERE B 2 | 6.200
16 |HEiE 9 [H s o gk BEHE| 2| 8.250 16 |#hi 9 [FRIEHE = gk A 2] 6.050
17 |mme 3|52 W KEE| 1| 8.200 17 w1 s5 | X 8 e A 2| 5350
18 |#ime1 9| & X Al Yali 74| 1| 8.150 18 [HRak1 | K& BIHOWE | 1| 4.700
18 |#m 2 o|#aA IARE R 1 8. 150 18 [#m19|d XY el A 1 4. 700
20 |#iE6| EoE B oEHE|l 1] 8.100 20 |[#m2 o [fAAS Aok mE| 1| 4,650
21 |Hue 7 (2| oE R 2| 7.950 21 |mm1 7|H & 8y WEE 2 1 4.600
22 M1 5| S A FEEE K| 2| 7.900 22 |mim2 2|®m R fEER | 1| 4. 350
29 |#m 2 2 [ m AR RESR | 1| 7.900 23 |mme 1| R % W 2 | 4.000
24 | 8 [faAs R R 2| 7.850 24 |mme 3|FR WE AEE| 1] 3,650
25 |#om 1 s|Em N/ oy Nl 7. 550 25 |#im1 8 |EH IS FER ] L 3. 500
26 B4 | o 2OEAT 2 | 7.450 26 [Kig1 6 |fAAS e 2| 2| 3.050

Print Time:2015/12/10 16:26




